Efficiency vs P,

+~ 0.2
2 : : :
L 0.18F -t o RREEEEEEEEE
> E ¥ : :

2 0.16fF--------- T [ AR
9] : : :

o
20.14
o

0.12
I SRS NSNS B —
Y SRS S e S
0.06F i S S
0.04F T e S
0.02f-----rereriurnnenens ------------- ------------

.................................................

o
T
—— [

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

= 0.5
2 0.45
0.4
£0.35
0.3
0.25]
0.2
0.15
0.1
0.05 . Sk

iclency vs

et

................................................

|_u|||||-|4-||||
hal .
-
K
N
-
-

IIIIIIIIII
3
¥

...............................................

Ratio

0.950

Efficiency vs ¢

o 0.]
£0.09
oy

$0.08 :
£0.07 §

CI)0.06l ++ {
0.0531:+-+--1}++
0.04F -

0.03F
0.02F
0.01

TJTITIITI T I

1.0

Ratio

||'-|||




	Contents
	Page 1


